
 

 

     

      
 

ljlQo ;dflgs/0f lgwf{l/t j8fut 

jh]6 l;df leqsf] cfof]hgfsf] ljj/0f     

k|yfldstfsf] qm=;+ 

cfof]hgfsf] 

gfd 

cfof]hgf ;+rfng x'g] 

:yn 

cg'dflgt nfut sfo{Gjog ljlw 
nfef+lGjt 

hg;+Vof 

cfly{s ljsf; 

1 

lzj dlGb/ 

b]vL 

d'8\s]r'nf 

kbdfu{ j8f g+=^ 500000 pkef]Stf ;d'x   

2 
On :jf:Yo 

rf}sL 3]/jf/ j8f g+=$ 1000000 pkef]Stf ;d'x   

3 

uf/fkfgL 

a[Iff/f]k0f,3]/j

f/, l;rfO{ j8f g+=@ / # 1400000 pkef]Stf ;d'x   

4 

ax'pb]lZo 

;xsf/L ;+:yf 

gs'{ j8f g+=$ 500000 ;+:yf   

5 df5fkfng j8f g+=! 1200000 ;d'x   

6 s'v'/f kfng j8f g+=! 400000 ;d'x   

  hDdf ?   5000000     

;fdflhs ljsf; 

1 

hgd'lSt 

o"jfSnj v]]n 

d}bfg j8f g+=! 600000 pkef]Stf ;d'x   

2 
d'njf/f dlGb/ 

lgdf{0f j8f g+=! 400000 pkef]Stf ;d'x   

3 
sflnsf df=lj 

3]/jf/ j8f g+=@ 700000 pkef]Stf ;d'x   

4 

;xglzn 

afnSnj ejg 

lgdf{0f j8f g+=# 400000 pkef]Stf ;d'x 

  

 

 

 

 

 

5 

kTo]s 3/df 

UofF; 

l;ln08/ tyf 

r'nf ljt/0f j8f g+=# 755000 pkef]Stf ;d'x 

  

 

 

 

 

6 

k|To]s 3/df 

UofF; 

l;ln08/ ty 

r'nf ljt/0f j8f g+=$ 1100000 pkef]Stf ;d'x   



7 
lzj dGbL/ 

lgdf{0f j8f g+=% 500000 pkef]Stf ;d'x   

8 

dflnsf 

df=lj=5fqfjf

; ejg j8f g+=^ 1500000 pkef]Stf ;d'x   

9 

e'jfgL dGbL/ 

lgdf{0f  

blnt6f]n j8f g+=^ 200000 pkef]Stf ;d'x   

10 

ufFp vfg]kfgL 

wf/f dd{t 

Aoj:yfkg j8f g+=& 1000000 pkef]Stf ;d'x   

11 

;]kfg] 

lty{:yn 

dlGb/ 3]/jf/ j8fg & 400000 pkef]Stf ;d'x   

12 
/f/f lg df lj 

3]/jf/ j8f g+=* 800000 pkef]Stf ;d'x   

13 
s}nfz k|flj 

3]/jf/ j8f g+=* 500000 pkef]Stf ;d'x   

14 
e'd] yfg 

dlGb/ lgdf{0f j8f g+=* 150000 pkef]Stf ;d'x   

15 

rGbggfy 

cfwf/e't 

ljwfno 

3]/jf/ j8f g+=( 900000 pkef]Stf ;d'x   

16 
d:6f ejfgL 

dlGb/ j8f g+=( 400000 pkef]Stf ;d'x   

  hDdf ?   10305000   

  

 

 

  

  

k'jf{wf/ ljsf; 

  

  

1 

/ftfkfgL 

lklkGof/f 

vfnL l;rfO{ j8f g+=! 500000 pkef]Stf ;d'x   

2 

ljw't kmnfd] 

kf]n vl/b 

tyf 9''jfgL   j8f g+=!@# 1500000 pkef]Stf ;d'x   

3 
jfO{ufFp vf 

kf dd{t j8f g+=! 200000 pkef]Stf ;d'x   

4 l5df 3]/jf/ j8f g+=@ 800000 pkef]Stf ;d'x   

5 
;'wfl/Psf] 

r'nf] j8f g+=@ 350000 pkef]Stf ;d'x   

6 
dlxnf ljsf; 

ejg j8f g+=@ 100000 pkef]Stf ;d'x   

7 
l;rfO{ 

uf}/Lkfvf j8f g+=# 500000 pkef]Stf ;d'x   

8 

3f]/f uf]7 

lrp9'ufF 

l;rfO j8f g # 300000 pkef]Stf ;d'x   



9 
3f}kfgL df/] 

vfg]kfgL j8f g+=# 500000 pkef]Stf ;d'x   

10 

;'Gtnf cgf/ 

ls=lj= kmf/fd 

df l;rfO{ 

dfOwf/f j8f g+=$  1200000 pkef]Stf ;d'x   

11 
j8f sf] 

zf}rfno j8f g+=$ 100000 pkef]Stf ;d'x   

13 

8fFkm] k|f lj 

sf] @ sf]7] 

ejg lgdf{0f 

3]/jf/ j8f g+=% 1200000 pkef]Stf ;d'x   

14 

ltNr'rf 

d'xfgaf6 km'n' 

l;rfO{ j8f g+=% 1500000 pkef]Stf ;d'x   

15 

dxfb]j / 

di6f dlGb/sf]] 

lkmN8 lgdf{0f j8f g+=^ 600000 pkef]Stf ;d'x   

16 

vfb'vf]nf b]vL 

pkNnf] vfb' 

3f] jf dd{t j8f g+=^ 300000 pkef]Stf ;d'x   

17 
ljh'nL kf]n 

vl/b / 9'jfgL j8f g+=& 3000000 pkef]Stf ;d'x   

18 

kfn] d'/]nL 

vf]nf sf7]k'n 

lgdf{0f j8f g+=& 500000 pkef]Stf ;d'x   

19 
vfw ejg 

lgdf{0f j8f g+=& 900000 pkef]Stf ;d'x   

20 

;Gt] b]vL 

lgufjf/L ;Dd 

3f] jf j8f g+=& 200000 pkef]Stf ;d'x   

21 

s}nfz  k|f lj 

x'b} u'Ghf}nL 

hfg] 3f] jf j8f g+=* 500000 pkef]Stf ;d'x   

22 

cf]S6 

n]sj:tL x'b} 

l;dnfUgf 

ufld0f ;8s j8f g+=* 1000000 pkef]Stf ;d'x   

23 

dfl/uf/ b]lv 

ufpF x'b} /lh8 

;Dd ufld0f 

;8s j8f g+=( 1000000 pkef]Stf ;d'x   

24 

jgkfvf b]lv 

cf]Vf]gf ;DDf 

vfg]kfgL j8f g+ ( 700000 pkef]Stf ;d'x   

25 

ufp b]lv 

lgk'8 ;Dd 

lty{:yn hfg] 

3f]=af= j8f g+ ( 200000 pkef]Stf ;d'x   

hDdf ? 
 

 

17650000 
    



jftfj/0f tyf ljkb Joj:yfkg ;ldlt 

1 
j[Iff/f]kg 

sfo{qmd  j8f g+=@ 300000 pkef]Stf ;d'x   

2 

On ufpFsf] 

dfly 

j[Iff/f]kg j8f g+=$ 300000 pkef]Stf ;d'x   

3 

kmf]x/ d}nf 

Joj:yfkg 

9n lgsf; j8f g+=& 400000 pkef]Stf ;d'x   

4 
b}lj ksf]k 

vftfdf hDdf    1000000  ufpFkflnsf   

;'zf;g tyf ;+:yfut ljsf; 

1 

sd{rf/L . 

kbflwsf/L 

Ifdtf lasf; ufFpkflnsf 500000 ufpFkflnsf   

  
  

 hDdf 500000     

      

      

      

      

 

 

 


